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!)= ;xfos tYofª\s eGbf k|fylds tYofª\snfO{ lsg a9L ljZjf;of]Uo dflgG5 <
Why primary data is more reliable than secondary data ?

!!= lbOPsf] tYofª\ssf] dWos * eP x sf] dfg kQf nufpg'xf];\ .
cfo -?=df_ M $, ^, *, x, !@
Find the value of x if the mean of given data is 8.
Income (in Rs.): 4, 6, 8, x, 12

;d"x ‘v’ (Group 'B')

-;+lIfKt pQ/fTds k|Zgx?÷ Short answer questions) *x%=$)

!@= ldl>t cy{Joj:yfsf ljz]iftfx?sf] JofVof ug'{xf];\ .
Explain the features of mixed economy.

           cyjf (Or)

b'n{etf / 5gf}6sf] pbfx/0f;lxt JofVof ug'{xf];\ .
Explain the scarcity and choice with example.

!#= Hofnfsf] hLjg lgjf{x l;4fGtsf] JofVof ug'{xf];\ .
Explain the Subsistence Theory of Wage.

!$= lbOPsf] tflnsfsf] cfwf/df tnsf k|Zgx?sf] pQ/ lbg'xf];\ . #±@
Answer the following question on the basis of given table.

j:t'sf] PsfO{ d"No -?=_ s"n cfo -?=_ l;dfGt cfo -?=_ cf}ift cfo -?=_
Units of goods Price (Rs.)     Total Revenue (Rs).  Marginal Revenue Average Revenue

       (Rs.)        (Rs.)        (Rs.)

1 10 ... ... ...
2 10
3 10 ... ... ...
4 10 ... ... ...
5 10 ... ... ...

i)  lbOPsf] tflnsf k'/f ug'{xf];\ . (Complete the given table.)

ii)  k"/f ul/Psf] tflnsfsf] cfwf/df l;dfGt cfo / cf};t cfo jqm/]vfx? lgdf{0f ug'{xf];\ .
Construct the marginal revenue and average revenue curves on the
basis of completed table.
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ljBfyL{x?n] ;s];Dd cfkm\g} zAbdf pQ/ lbg'kg]{5 . bfof“ lsgf/fdf lbOPsf] cª\sn] k"0ff{ª\s
hgfp“b5 .
Candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.

Time: 3 hrs. Full Marks: 75
;a} k|Zsf] pQ/ lbg'xf];\ . (Attempt all the questions.)

;d"x ‘s’ (Group 'A')

-clt ;+lIfKt pQ/fTds k|Zgx?÷ Very Short answer questions)  !!x!=!!
!= pTkfbg ;+efJotf jqm eg]sf] s] xf] <

What is production possibility curve (PPC) ?
@= olb s"n nfut ?= !))) / s"n cfo ?= !,@)) eP ;'q k|of]u u/L s"n gfkmf kQf

nufpg'xf];\ .
If total cost  is Rs.1000 and total revenue is Rs. 1,200, find the total profit
by using the formula.

#= d'b|f ahf/sf] kl/efiff lbg'xf];\ .
Define money market.

$= :jtGq Jofkf/sf] cy{ n]Vg'xf];\ .
Write the meaning of free trade.

%= a]/f]huf/L eg]sf] s] xf] <
What is unemployment ?

^= ljZj Jofkf/ ;+u7g eg]sf] s] xf] <
What is World Trade Organisation (WTO) ?

&= cfly{s j[l4sf] cy{ n]Vg'xf];\ .
Write the meaning of economic growth.

*= lbuf] ljsf;sf] s'g p2]Zo z"Go ef]sd/L;“u ;DalGwt 5 <
Which goal of sustainable development is related to Zero Hunger.

(= cy{zf:qdf tYofª\szf:qsf s'g} b'O{j6f k|of]u n]Vg'xf];\ .
Write any two uses of statistics in economics.



;d"x ‘u’ (Group 'C')

-lj:t[t pQ/fTds k|Zgx?÷ Long answer questions) #x*=@$
@)= Psflwsf/ ahf/df ;LdfGt cfo–;LdfGt nfut ljlwåf/f cNksfndf kmd{sf] ;Gt'lnt d"No

/ pTkfgsf] lgwf{/0f s;/L x'G5 < JofVof ug'{xf];\ .
How equilibrium price and output are determined in short-run by a firm
using MR-MC approach under monopoly market ? Explain.

@!= Pp6f cy{tGqdf ;fj{hlgs ljQ lsg dxŒjk"0f{ dflgG5 < JofVof ug'{xf];\ .
Why public finance is considered important in an economy ? Explain.

@@= g]kfnsf] j}b]lzs Jofkf/ 3f6fsf sf/0fx? n]vfhf]vf ug'{xf];\ .
Evaluate the causes of foreign trade deficit of Nepal.

                cyjf (Or)

j}b]lzs /f]huf/Ln] cy{tGqdf kfg]{ k|efjx?sf] n]vfhf]vf ug'{xf];\ .
Evaluate the effects of foreign employment in an economy.
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!%= olb !) PsfO{ pTkfbgdf cf}ift nfut / cf}ift kl/jt{gzLn nfut qmdzM ?= #) / ?= @)
eP s"n l:y/ nfut kQf nufpg'xf];\ . cNksfnLg cf}ift nfut jqm /]vf lsg U-cfsf/
sf] x'G5 < sf/0fx? lbg'xf];\ .

     If AC and AVC are Rs.30 and Rs.20 respectively. Calculate TFC at output
of 10 units. Why is the short run average cost curve U-shaped ? Give
reasons.

!^= jfl0fHo a}+ssf sfo{x?sf] j0f{g ug'{xf];\ .
Describe the functions of commercial bank.

!&= g]kfndf cfly{s c;dfgtf sd ug{sf nflu ePsf k|of;x?sf] n]vfhf]vf ug'{xf];\ .
Evaluate the efforts made for the reduction of economic inequality in Nepal.

!*= g]kfndf of]hgf lgdf{0f s;/L ul/G5 < j0f{g ug'{xf];\ .
How plan is formulated in Nepal ? Describe

!(= lbOPsf] tYofª\saf6 :tl/o ljrng kQf nufO{ glthfsf] JofVof ug'{xf];\ .
Find the standard deviation from the following data and interpret the result.

cfDbfgL -?=_ 14 15 18 20 22 28
Income (Rs.)

kl/jf/ ;+Vof 4 3 4 5 2 2
(No. of family)

                       cyjf (Or)

tn lbOPsf] tYofª\saf6 n]:k]o/sf] ;'rsfª\s kQf nufO{ glthfsf] JofVof ug'{xf];\ .
Find the Laspeyre's Price Index  from the given data and interpret the

result.

j:t'sf] k|sf/       lj=;+= (BS) 2067      lj=;+= (BS) 2077

Types of d"No -?=_ kl/df0f -ls=u|f_ d"No -?=_ kl/df0f -ls=u|f_

goods Price (Rs.) Quantity (Kg.) Price (Rs.) Quantity (Kg.)

A 10 15 20 15
B 12 18 13 17
C 15 15 18 20
D 8 9 12 13
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